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U MAY NOT SHARE CALCULATORS. SITOW ALL YOUR WORK.

prs). Find :%/ of the following functions:
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). Find an equation of the tangent line to the function y = fla) =142+ at e — 2
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() Find all vertical asymptotes of the funetion.
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{b) Find all horizontal asympiotes of the fnction.
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[5pts). Fvaluating the following Limits:
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() Vind the average rate of change between o = 2 and @ — 4.
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(b} Find the instantancous rate of change al @ — 2.
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>pts). The demand function for a product in e units is p = D(x) = 100 — % Find the revenme

etion po= f2(r).
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[2pts). Suppose that the cost and revenue functions for a certain prodnet are given by Cfe) —
V16— 0.0020% and R(x) = 7.82 — 00122, respectively, Find the smallest break-cven point.
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Opts). Find a value of & so that to make the function y — flo) — { F A it
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(E5prs). Suppose the cost function of a prodnet is given by p — Cla) = 550 | dde 0.020% in
ars for 0 =<0 <0 1100 units

| I'ind average cost per unit if 500 units are produced.
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) Find the exact cost to produce the 101st unit.
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Find the marginal coxt_function.
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| Find the marginal cost when 100 unils are produced.

At what production level is the marginal cost 1;(1‘{1 per unit?
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